| Delilah buys a packet of balloons for 68p. She pays with 4 20p coins.

€€ 868

How much change should she receive? Complete the number line to help yow

R — E—

68p

Delilah received change.

| Alexandra is selling fruit smoothies.

banana: 60p mango: £2 and 25p

L

strawberry: 86p melon: £1 and 90p

a) Jonny orders a mango and strawberry smoothie. He pays with seven 50p coins. How much change does he
need? What coins could Alexandra give him? Find three possibilities.




Challenge answers

Delilah received 12p change.
2p 1op
m/ \

68p 70p gop

1) a) He needs 39p change.
Accept any three differing combinations of coins to make this amount. For example:
20p, lop, Sp, 2p and 2p
lop, 10p, lop, sp, 2p, and 2p
20p, sp, Sp, Sp, Ip, Ip, Ip and Ip.



